
Kit estrazione cuscinetti/silent block
G

ov
on

i s
rl 

 |
  V

ia
 d

eg
li 

O
rs

i 9
7 

 |
  4

00
14

 C
re

va
lc

or
e 

(B
O

)  
| 

 T
el

.: 
00

39
 0

51
 9

8 
26

 8
8 

 |
  w

w
w

.g
ov

on
i.i

t 
N
EW

S
 0

5.
15

Complete Kit 322 015 000

24
Kg

620

43
0

15
0

Complete Kit

Tool set for silentblocks

Press tool set for silent-
blocks mechanical
operated, 39 pcs.

 Kit for silentblock introduction and extraction of rear 
deck, swinging arms, oil seal crankshaft intriduction, 
camshaft.

 Frame tested up to 17 ton.

COMPONENTS: 
- 20 different bushes in order to work on all sizes of 

Silentblocks in the market.
- 6 different washers to use with the different bushes 

in range during the silentblocks extraction and/or 
introduction operations.

WHEN REPLACE SILENTBLOCK: 
- When they are noisy.
- To avoid annoying and strong sounds during arrest.
- To avoid metallic sound when hit a speed bump or 

hole in the gound.

The bushes are from Ø 34 mm to Ø 82 mm, they 
can be used directly on the vehicle or under the 
press.
Suitable for introduction and extraction of wheel 
bearings.

 
Suitable to all cars and commercial vehicle 
silentblock.
The tool can be used without disassembling the arms 
or the trapeze thanks to the tie-rods.
Il helps the work on the press thanks to the available 
bushings. 

continued »

Silentblock

Bush Bush

36
9

26
9

MAX PRESSURE 
17 TON

20 DIFFERENT BUSHES 
Ø 34 TO 82 mm

OPERATING DIRECTLY ON 
VEHICLE



G
ov

on
i s

rl 
 |

  V
ia

 d
eg

li 
O

rs
i 9

7 
 |

  4
00

14
 C

re
va

lc
or

e 
(B

O
)  

| 
 T

el
.: 

00
39

 0
51

 9
8 

26
 8

8 
 |

  w
w

w
.g

ov
on

i.i
t 

N
EW

S
 0

5.
15

24
Kg

620

43
0

15
0

Tool set for silentblocks

Components

322015006 Extraction screw M20X1.5 - 
CH.24

322015005 Extraction screw adapter 
M20X1.5

322015014 Adapter for 322015005

322015002 Adapter for centering bushes

322015010 +
822015000 Locking washer

322014008 Centering bush for washer

Components

322015008 +
861039000 Extension frame L=100 mm

322015016 +
322015017 +
322015007 +
822086000 

Frame

322014001 Centering washer “1”

322014002 Centering washer “2”

322014003 Centering washer “3”

continued »



G
ov

on
i s

rl 
 |

  V
ia

 d
eg

li 
O

rs
i 9

7 
 |

  4
00

14
 C

re
va

lc
or

e 
(B

O
)  

| 
 T

el
.: 

00
39

 0
51

 9
8 

26
 8

8 
 |

  w
w

w
.g

ov
on

i.i
t 

N
EW

S
 0

5.
15

24
Kg

620

43
0

15
0

Tool set for silentblocks

Components

322014004 Centering washer “4”

322014005 Centering washer “5”

322014006 Centering washer “6”

322007001 Pushing bush 82/72
82/72

322007002 Pushing bush 80/70
80/70

322007003 Pushing bush 78/68
78/68

322007004 Pushing bush 76/66
76/66

322007005 Pushing bush 74/64
74/64

322007006 Pushing bush 72/62
72/62

322007007 Pushing bush 70/60
70/60

322007008 Pushing bush 68/58
68/58

322007009 Pushing bush 66/56
66/56

322007010 Pushing bush 64/54
64/54

322007011 Pushing bush 62/52
62/52

322007012 Pushing bush 60/50
60/50

322007013 Pushing bush 58/48
58/48

322007014 Pushing bush 56/46
56/46

Components

322007015 Pushing bush 54/44
54/44

322007016 Pushing bush 52/42
52/42

322007017 Pushing bush 50/40
50/40

322007018 Pushing bush 48/38
48/38

322007019 Pushing bush 46/36
46/36

322007020 Pushing bush 44/34
44/34

322020001 M10 threaded rod
M10

322020002 M12 threaded rod
M12

322020003 M14 threaded rod
M14

322020004 M16 threaded rod
M16


